£200 (H305FE)
(7818 (B B3

LHEMXEFEAR
AERERE (A B+ C) J—h]

RAEHGR

(57F]
285 FE 31 E5M1
BB PR ispra]anleel
37 I 36 35 I 36 34 45
A6 B6 C6
RS SRREE, SRRES
5] f PN b[4 S 5
B B = 1 ﬂj B
= |4 = 7 =y
¥ ¥ S 3R
7
s
A1 B11fiI A2 B2 A3 B 311
(&ZF)
IR —F XY~ P2 —F AU~ TR OB
B85 FE51
LIPR SthE=
CI—k (BTPU—)
22 - 22 26 = 28 s—pabbits|z & wxR 1 Bl IEE
RS SRERES (B3fD) | (C3fD | (D3fD 32
89 | 31 35040 330150 12184 5= Rabpits CA1 C3 S
A B 1 A3 B3 20-0 78-20
(B3 O O 2 B
C1 C5
D vy —deliv
;_, o i;‘ 3 [_EFj - EU :7'; Z 8 = 0-20 0-20 3
# e . pra R = 6 o a
pas i 0 ;2 = (C31D Co3 — ) 28
¥ m = N xas o
E 7( R 1B 20-78 20-0 5(/)\L21u
(D 31D ) O 1818
A1l D1fI C1fz B1fiz A2{1 D21 C2fii B2
SRREE 7 RRTEE
ey L = e . - S
6/24| 7/1 HE2B| BNER| ERkarEs (B7F) AEBE (7] AEH’BR
= B | y|o-r| |amesn| sco| soo B | mEE B LB R
A 1 845 845 @ BB SRR prajusgsl
MEAS MEAS
AY—R AY—R
EEBMSIABEEE B 2 955 945 £3f1| b B R =3 HeonE
C 3 [11:05] 1045 vl BN = g4 EEBILYE
SHEZINER| D 4 1215 1145 541 B Eon| SHHE=
W§K§
BY—R
BN ER| E 5 1325 12145 Eof| Smo1v) 2 Etotvi BN =
MEKRS
= % BY—R
ShE=IhER| F 6 |14:35] 1345 BT 7 R
REBINER | G 7 | 1545 1445 g3 B ¥
X%%ﬁ 16:00
XS TRICREREBENNZLET,




